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GENERAL ENGLISH/ maimaizs @o@ea‘

The following questions (Q. Nos. 36 - 39) are
designed to test your familiarity with prepositions.
Select the correct option and darken it in your
answer sheet.
40.
36. Despite the agony caused __ pain, it
is essential for our survival.
(1) in
(2)  within
(4) during
37. The lamp fell and broken _pieces._x
(1) into +:'!12,
(2) to
(3) with
(4) at =
43.
38. The tired traveller was sitting ____ the
shade of the tree.
(1)  under
(2) into
(3) in 44,
(4) with
39. The people began__ starve.
(1) by
@ in 45.
(3) to
(4) on

94 (7-A)

Digress

(1) Confusion

(3) Trouble

Glee
(1) Delight

(3) Sad

Taciturn
(1) Talkative

(3) Sensitive

Impair

(1) Couple
(3) Damage
Vigorous

(1) Dynamic
(3) Fast
Temporal

(1) Valuable
(3) Truth

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

To answer questions 40-45, choose the correct
synonym for the given word and darken the

correct answer in your answer sheet.

Deviate

Indigestion

Shout

Weep

Reserved

Temper

Rival

Permission

Tight

Tough

Worldly

Temporary



To answer questions 46-51, choose the Questions from 52-56, contains four words in

antonym for the given word and darken the each question. Identify the wrongly spelt
correct answer in your answer sheet. word and darken the option related to it in

your answer sheet.

46. Perennial

(1) Occasional (2) Permanent 52. (1) Benevolence
(3) Frequent (4) Rare (2)  Benefaction
(3) Beneficiary
47. Abundant (4) Benedictry
(1) Plenty (2) Beautiful

(4) Homonym

(3) Bountiful (4) Scarce 3. (1) Antonym
(2) Pseudonim
48. Extinguish (3)  Synonym
(1) Magnify (2) Kindle f
L]

(3) Extinct (4) Freeze
49. Ancient (2) Dipsumania

4. (1) Monomania
(3) Kleptomania
5.

(1) Antique (2) Transient

(3) Modern (4) Salient (4)  Pyromania
50. Assets (1)  Nurologist

(1) Responsibilities (2) Cardiologist

(2) Estate (3)  Psychiatrist

(3) Liabilities (4) Dermatologist

(4) Hindrances
56. (1) Omnicient

2 Omnipresent
51. Transparent ) 'P

(3) Omnipotent
(1) Opaque (2) Misty
(4) Omnivorous

(3) Covered (4) Clear
94 (8-'A)



For questions 57-59, each sentence has a
part that is grammatically incorrect. Identify
the incorrect part and mark it in your answer

sheet.

57. “Slumdog Millionaire” is one of the best

movie in the world.

(1)  “Slumdog Millionaire”
(2) isone of

(3) the best movie

(4) inthe world.

58. No sooner did the teacher enter the

class then the students stood up.
(1) Nosooner

(2) did the teacher

(3) entertheclass

(4) then the students stood up.

59. Neither the Headmaster nor the

Assistant masters was present.
(1) Neither the Headmaster
(2) nor

(3) the Assistant masters

(4) was present.

For questions 60-65, read the following

passage and mark the correct option in your

answer sheet.

Abraham Lincoln was born on February

12, 1809, in Hardin County, Kentucky, to
Thomas and Nancy Lincoln in their one room
log cabin on their farm known as Sinking
Spring. Although Thomas lacked formal
education, he was an excellent farmer and
carpenter, and often times served as a
ember of the jury. Thomas and Nancy
oined a small Baptist church in the area that

ad broken away from the larger church over

:.Iﬁhe issue of slavery.
-

When Abe was two, the family moved

o nearby knob Creek-Farm where Abe’s first
mories of his childhood were formed.
ecause of difficulties his father had with the
itle to the farm, Thomas Lincoln moved his
amily to Pigeon Creek, Indiana in 1816
where the seven year old Abraham helped
im build a log cabin in the woods. Two years
ater, Nancy died of “milk sickness”. Milk
sickness is a rare disease caused by drinking
the milk or consuming the meat of a cow that
In 1819,

has fed on poisonous roots.

however, Thomas married Sarah Bush
Johnston, whom Abraham would call
“mother”. Sarah was a kind and warm

woman who brought her three children,
Matilda, Elizabeth and John to the Lincoln

homestead to live with Abraham and his sister.

94 O-A)



From an early age Sarah, recognized
Abraham’s quick wit and intellect and
encouraged him to read. Abraham became
an avid reader, gobbling up any book he
could get his hands on from neighbours,
Clergymen and travelling teachers. Abraham
attended school on an inconsistent basis. At
times, travelling teachers may have taught at
a nearby rudimentary school house and at
other times Abraham walked several miles to
the nearest school. Lincoln himself admitted
that the total

amount of schooling he

received in his childhood was no more than

twelve months; nevertheless, he became ah_l;x

excellent reader, learnt to write, measure

and make division and multiplication

calculations. Abraham took his studies very
seriously. Without paper in the house t;
practice his writing and math, he often did
arithmetic on the back of a wooden spoon

using charcoal as a makeshift pencil.

Abe’s growing desire to attend schoal
conflicted with his father’s demands on him,
which often made him appear lazy to his
neighbours. His father often rented him out
to perform manual labour tasks such as
shucking corn, hoeing, gathering and
plowing. During the early 1800’s, Abe’s father

was entitled to all of the money earned as a

result of his son’s labour. Abe’s considerable
strength was evident with his unusual skill
and power with an axe. Abe was said to be
able to chop more wood and split more rails
than anyone around. For larger and stronger
than the other boys in the region, Abe could
outrun and out wrestle all of them. Unlike
most boys of his time, however, Abe avoided
hunting because he took no pleasure in killing
animals. Although Abe gained a reputation as

prankster for his storytelling, he also gained

reputation for honesty.

=
_60. What word or phrase would not

describe Sarah Bush Johnston ?
(1) Dishonest (2) Kind

(3) Caring (4) Nurturing

1. Why did the Lincoln family decide to

join a new church ?

(1) They became more religious.
(2) The passage doesn’t say.

(3) Over the issue of slavery.

(4) They wanted to be in a smaller

church.

94 (10-A)



62.

63.

64.

65.

94

What did Abraham Lincoln use to write

his arithmetic ?

(1) Wooden Spoon
(2) Hisarm

(3) Paper

(4) Charcoal

Which of the following was Abe NOT

rented out by his father to do ?
(1) Hoeing
(2) Shoveling

(3) Gathering

(4) Plowing

Why did Abraham Lincoln refrain from
L]

hunting ?

(1) His family didn’t own a gun.

(2) His family didn’t need him to

hunt.

(3) Hedidn’t like killing animals.

(4) He was aterrible shot.

Sarah was “mother” to how many

children in the Lincoln homestead ?
(1) Two (2) Three

(3) Four (4) Five

69.

70.

(11 - A)

The Questions 66-70 are designed to test your
knowledge of English vocabulary. Choose the
correct word from the options given and
shade/blacken it on the answer sheet.

66.

Extreme fear of water
(1) Exposure

(2) Aggression

(3) Hydrophobia

(4) Paralyse

Attraction of something/place
(1) Impression

(2) Fascination

(3) Rejection

(4) Lamination

A short description about someone
who is dead

(1) Epitaph

(2) Epigraphy
(3) Death note
(4) Inscription

A person who studies birds scientifically

(1) Ornithologist
(2) Ontologist
(3) Bird Scientist
(4) Birdman

Continued steady effort to achieve an
aim

(1) Success
(2) Perplex
(3) Study

(4) Perseverance
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71.

72.

73.
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ADSL stands for

(1) Automatic Digital Satellite Link

(2) Asymmetric Digital
Link
(3) Asynchronous Digital

Subscriber Link

Satellite

(4) Audio Digital Signature Link

IP address is currently :
(1) 4 byteslong
(2) 6 byteslong
(3) 8byteslong

(4) 12 byteslong

Internet uses the

technology :

(1) Telephone switching
(2) Telegram switching
(3) Packet switching

(4) Circuit switching

followin

(13-A)

1.

.tka§

74. Match the following :

Clip board a. Keep the
source
formatting

One of the b. Editing options

paste options

Find and Replace c. Image

Clip Art d. Holds the

(1)
(2)
(3)
(4)

copied

contents

1 2 3 4

Drop cap option is used to

(1)
(2)

(3)

(4)

drop a paragraph

create a large capital letter at

the beginning of a paragraph.

adjust the space between the

paragraphs.

Format the paragraph.
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76.

77.

78.
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In Excel, to highlight only interested 7

cells, we use

(1) Cell formatting
(2) Cell styles

(3) Format text

(4) Conditional formatting

In MS word, subscripting can be
done with key combinations. % .

(1) [Ctrl]+[=] I-lx-

(2) [CtrI] + [Shift] + [+]

(3) [Ctrl] + [Shift] + [=]

(4) [Ctrl] + [Insert] -

If we type = NOW () in an Excel cell,

we get
(1) Today’s date
(2) Currenttime

(3) Current time & today’s date in

order.

(4) Today’s date and current time

in order.

(15-A)

—

Which function key is used to start

spell check automatically in MS

Word ?
(1) F1
(2) F3
(3) F5
(4) F7

The formulae = round (8.50, 0) in MS

Excel gives
(1) 9

(2) 8.5
(3) 8

(4) 8.6

Small programs to automate
repetitive tasks in MS word are

called

(1) Macros

(2) Addon

(3) Mail merge

(4) References
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MS o8ef 3O Al, A2, A3, Bl, B2

DB B3 @ze0dnY 00y

d)’ao?sddg{ o) SR DIDI
STCI N

(1) =MAX (A1::B3)

(2) =MAXIMUM (A1l : B3)

(3) =MAX (Al :B3)

(4) =MAXIMUM (A1 ::B3)

MS o3 ef IO BRI IzF ees) %6.

-

-l

00NV, VPRI 3 WD

(1) Shift +F5

(2) Shift+F6

(3) Shift+F10 )
(4)  Shift + F11

MS 08‘\)06 deﬁ’)m 2001 mv@( DT

TBE 3edod

eTIRIED)
(1) Ctrl+9
(2) Ctrl+R
(3) Ctrl+F9

(4) Delete 3¢e®

-
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The formulae in MS EXCEL to find
the maximum value of the content

of A1, A2, A3, B1,B2 and B3 is

(1) =MAX (A1::B3)

(2) =MAXIMUM (A1l : B3)

(3) =MAX (Al:B3)

(4) =MAXIMUM (A1 :: B3)

To insert a new worksheet in MS

Excel, we press

(1) Shift+F5

(2) Shift+F6
(3) Shift+F10

(4) Shift+F11

In MS Excel, you can hide a row b

pressing
(1) Ctrl+9
(2) Ctrl+R
(3) Ctrl+F9

(4) Delete Key

dS

87.

(17 - A)

<N

ghitk

Company logos can be inserted in

every slide of a PowerPoint

presentation using

Slide sorter

(1)
(2) Slide master
Handout Master

(3)

Notes master

(4)

What kind of storage device can be

affected by fragmentation ?

(1) Optical

(2) Magnetic
(3) Solid-state
(4) EPROM

The view that display only text with

bullets in MS PowerPoint is

(1)

Print layout

Outline

(2)
Normal

(3)

Slide sorter

(4)
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MS Excel 39 3-D evejes) RpI3)

(1) TBF deex’) BYY Do AdIT

(2) TR Fedon’ 303, Yy
eQBRR VDB

(3) T mcjé&om

(4) Bedo Sogm IBF Beed

BoE3QBRR), BT

MS-Word def)m 2B, BF nNY 293

oD ?

(1) Barbess (FOor) SO Sreqew

(2) Do (@oBDoLs )
NOFE PYS, Beenw

(3) B3 SorhesBRYRY,
QOFZTL

(4) 22eeBBRY, (WD Does)

@xig( BHonade VRTEN

2.

(18-A)

ar
S5

B30° oo BWBFITY  adyod

330° FODYFEF K DYSVTD ?

(1) .gif

(2) .jpg

(3) .wav

(4) [WYTLY oLFp

Nudi B33 039083

3 TP VBT,

(1) Unicode

(2) EBCDIC

(3) Extended ASCII
(4) Ascll

Se35°F  puT0deeNDITT

08,0683V 2,0E0T.
(1) 238, ToBS B0z

(Peripheral Sharing)

(2) 3B3B3QS (File Security)
(3) Tgs (Protection)
(4) QDyTomFS (Reliability)



88. In Excel, 3-D reference in a formula 90. Which file format can be added to a

PowerPoint show ?

(1) Spans worksheets

(1) .gif
(2) Limits the formatting options (2) .irg
(3) .wav

(3) Cannot be modified
(4) All of these

(4) Only appears on summary

worksheets. 1. Nudi-Kannada Software uses
system.

(1)  Unicode

(2) EBCDIC

89. What is the use of bookmarks in

(3) Extended ASCII
- ?
MS-Word - (4) AsCll

(1) To correct the spellings.

2. is one of the benefits of

(2) To jump to a specific locatio using a network.

in th .
in the document (1) Peripheral Sharing

2) File Securit
(3) Toignore spelling mistakes. ) y

(3) Protection

(4) To Save alignments as it is. (4) Reliability

94 (19 - A)
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MS-Excel : 35 Kees® def)md)d 2E)

TN (rows)

(1) 65,000 (2) 65,530

(3) 65,536 (4) 65,556
MS-Excel : S&° QDI ‘Text Wrap’

3B HVBA3REHDR 3eNK).

(1) Ctrl + Enter
(2) Alt+ Enter

(3) Shift + Enter

(4) @IOLY Wodde

305t30° SON ©33enad 3,08

(1) RAM
(2) Cache
(3) ROM

(4) Hard disk

8 BYNIYNYY D BRIYRVOF
sHDHYD 03I ?

(1) 80186 (2) 80286

(3) 80386 (4) 80486

G
o
e

98.

9.

100.

BIOS 3 08 edITHST ?
(1) RAM/T&F
(2) ROM/TBredF
(3) Flash

=,08)

Memory (@RYAWI

(4) @IOYO doITe v

Firmware 03503308 DeT5
sNDHIT ?

(1) Toed® (2) oot

(3) T (4) ®TFF Jeof

)

8 BINIJYINYY  abold  DIded
ZBD DTed DD (BB TF £3;2)
®ROT ?

(1) Soies Deed

(2) SWBoBET® 3D

(3) Bea D3ed

(4) <SRBT D3RO

7-0e3¢ BeTF
YD ?

(1) BCD

(2) AsCll
(3) EBCDIC

(4) B oY@ B0

@U@Am?sd)eas‘

(20-A)



93.

9.

9s.

96.

94

MS-Excel : Total number of rows in a 97.

sheet.

(1)
(2)
(3)
(4)

MS-Excel : Text wrap in the selected

65,000
65,530
65,536

65,556

cell can be done using

(1)
(2)
(3)
(4)

Ctrl + Enter
Alt + Enter
Shift + Enter

None of these

Fastest memory in computer

(1)
(2)
(3)
(4)

RAM
Cache
ROM
Hard disk
Which one of these, is not a 100.

microprocessor ?

(1)
(2)
(3)
(4)

80186
80286
80386

80486

ghtkas

21 - A)

BIOS is stored in

(1) RAM

(2) ROM

(3) Flash Memory

(4) None of these

Firmware is stored in

(1) ROM
(2) RAM
(3) Cache

(4) Hardware

Which of the following memories

that has shortest access time ?
(1) Magnetic memory

(2) Semiconductor memory
(3) Cache memory

(4) Super memory

7-bit alphanumeric code is
(1) BCD

(2) Ascl

(3) EBCDIC

(4) None of these
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